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QUESTION 1

A customer wants to monitor the current utilization of storage capacity to ensure storage availability. They decide to
implement quotas on some volumes. 

What are three types of quotas that would satisfy the customer\\'s requirement? (Choose three.) 

A. user 

B. aggregate 

C. group 

D. volume 

E. qtree 

Correct Answer: ACE 

Reference: https://library.netapp.com/ecmdocs/ECMP1196906/html/GUID-07CDD7F3-5958-478F-
AE5862AE4B8699D7.html 

 

QUESTION 2

You are using OnCommand Unified Manager to monitor the health and availability of your data protection relationships. 

In this situation, what must be added to enable you to create, break, and resynchronize relationships? 

A. SnapCenter 

B. OnCommand System Manager 

C. OnCommand Insight 

D. OnCommand Workflow Automation 

Correct Answer: D 

 

QUESTION 3

You are planning on archiving 200 TB of data with SnapVault to an ONTAP Cloud Instance. 

Which NetApp tool manages your Bring Your Own License (BYOL)? 

A. OnCommand System Manager 

B. OnCommand Unified Manager 

C. OnCommand Cloud Manager 

D. OnCommand Insight 
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Correct Answer: C 

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1074936/~/ontap-cloud-byol-%28bringyour-own-
license%29-is-expired-

 

QUESTION 4

A customer has a MetroCluster solution and wants to automate the disaster-recovery process. The customer wants to
control the switchcover between the sites. 

Which NetApp tool would satisfy these requirements? 

A. OnCommand Unified Manager 

B. MetroCluster Tiebreaker 

C. OnCommand System Manager 

D. OnCommand SnapCenter 

Correct Answer: B 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2812225 

 

QUESTION 5

Which two statements are correct about MetroCluster IP requirements for intercluster LIFs? (Choose two.) 

A. At least one interface per node is required. 

B. Either an IPv6 address or IPv4 address is required. 

C. A dedicated network port is required. 

D. Jumbo frames are required. 

Correct Answer: BC 
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